
Warm	
  Up	
  3.10	
  

Determine	
  if	
  the	
  given	
  function	
  is	
  explicit	
  or	
  recursive.	
  Then	
  state	
  whether	
  it	
  is	
  an	
  Arithmetic	
  
or	
  Geometric	
  Sequence.	
  	
  Finally,	
  create	
  four	
  terms	
  of	
  the	
  sequence	
  and	
  graph	
  them.	
  

1.	
  g(x) = 3x + 5 	
  
	
  
	
  
Four	
  terms	
  of	
  sequence:	
  

Explicit	
  	
  or	
  	
  Recursive	
  
	
  
	
  

Arithmetic	
  	
  or	
  	
  Geometric	
  

	
  
	
  

	
  
2.	
  h(1) = 2
h(x) =  (h(x −1)) ⋅3	
  

	
  
Four	
  terms	
  of	
  sequence:	
  

Explicit	
  or	
  Recursive	
   Arithmetic	
  or	
  Geometric	
  

	
  
3.	
  d(t) = 3(t −1) 	
  
	
  
	
  
Four	
  terms	
  of	
  sequence:	
  

Explicit	
  or	
  Recursive	
   Arithmetic	
  or	
  Geometric	
  

	
  
	
  


